MULTIPLICATION: NEGATIVE DECIMAL NUMBERS (H - SET 5)

THREE DECIMAL PLACES f;l: o
181 —0.07 x 0.004 = 196 0.03 x (—=0.4) =
182) —1 X 0 = 1979 —0.6 X 0.8 =
1) —0.5 x (=0.06) = 198 0.003 x (—0.08) =
s 0.08 X 7= 199 —0.1 x (=0.8) =
1) 0.01 x (—0.08) = 2000 0.3 x (—0.04) =
156 1 x (=0.1) = 2010 (0 x (=0.2) =
157 —0.02 x (—0.06) = 2020 —0.002 x 0.006 =
159 0.006 x 0.07 = 208 —0.04 x 0.08 =
159 —0.001 x (=0.06) = 200 —7 x (=0.009) =
190) 8§ x 0= 209 0.3 x (=0.1) =
o) 8 x (—0.004) = 2000 0.007 x 0 =
192 (0 x 0.02 = 20110 x (—0.003) =
193) 0.009 x () = 208) (0.9 x 0.07 =
o —0.01 x 1 = 209 0.009 x (—0.5) =
195 —8 % 0.4 = 2100 —(.004 x 0.002 =
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